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	[image: image2.png]The graph shows the number of votes for
class president in Mrs. Freeman’s class.
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How many more votes did Andre receive
for class president than Pradeep?

A. 2 votes
B. 7 votes
C. 9 votes

D 16 votes




	[image: image3.png]The sum of the angles formed in a straight
line is 180°.

What is the measure of the angle x?
A 120

B. 78°

C. 102°

D 108°





	[image: image4.png]A student measures the lengths of
different screws.
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What line plot best represents the lengths
of the screws?
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	[image: image5.png]The figure below shows the layout of
James's bedroom and the adjoining patio.

12ft 6ft
8ft 8ft
12ft 6ft
Which expression represents the total
area?
A, 8x12+8x6=144 fi’

B.

8+12x8+6=280 ft*
28+12+8+6) =68 ft*

2(8x12x8x6)=9216 ft’






	[image: image6.png]Mia is preparing her yard for a new
rectangular flower bed measuring 6 feet
by 3 feet. What shows another way she
can lay out her flower bed without
changing its perimeter?
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	[image: image7.png]Kelli arew the four rectangles.
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Which rectangle has the /argest perimeter?
A. rectangle A
B. rectangle B
C. rectangle C

D. rectangle D
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	This is Manuel’s clock.  What time will it be in half and hour. [image: image8.png]3:17




A.  2:37

B. 3:37

C. 3:47

D. 4:17
	[image: image9.png]Eric made 100 liters of lemonade for his
school’s carnival. He poured 2 liters of
lemonade to fill equal size bottles until the
lemonade was gone. How many bottles of
lemonade did Eric fill to sell at the
carnival?

A. 5 bottles
B. 50 bottles
C. 200 bottles

D 2000 bottles






	Mr. Brown kept this tally chart to keep track of the cell phone calls his family received in a week. 
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Based on the tally chart, what can you say about the phone calls for the Brown family?

A. Brad got more phone calls than anyone.

B. Mr. Brown got the most calls.

C. Amber’s calls were longer than Brads.

D. Mrs. Brown got the most calls.
	[image: image11.png]Each student in the Beautification Club at
Westside Elementary planted sunflower
seeds in the school flower garden. After
six weeks, the height of each sunflower
they planted was recorded in the line plot.
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To which height did five of the sunflowers
grow since the students planted the seeds
six weeks ago?

A. 25% inches
2

B. 26 inches

C. 26% inches
2

D 27 inches






	What is the best estimate of the area shown below.  [image: image12.png]



A. 17 sq. units

B. 20 sq. units

C. 27 sq. units

D. 32 sq. units
	The grid shows the space set aside for selling cheese and pies/cakes at the local fair.  [image: image13.png]Cheese

Pies/Cakes




What is the area of the cheese space?

A. 9 sq. units

B. 10 sq. units

C. 12 sq. units

D. 13 sq. units

	The perimeter of one of the rectangular playrooms at Miss Pittypat’s Day Care is 72 feet.  Its width is 10 feet.  What is the area?

A.  120 sq. feet

B. 160 sq. feet

C. 220 sq. feet

D. 260 sq. feet


	Sandy needs to know the perimeter of the shaded on the grid.  

[image: image14.png]



What is the perimeter of the shaded rectangle?

A. 60 inches             C. 22 inches
B. 32 inches             D.  16 inches 

	Mrs. Lewis wants to fence in her vegetable garden and her flower garden.  How many feet of fencing does Ms. Lewis need for both her vegetable garden and her flower garden?
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A. 34 feet                         C. 68 feet
B. 56 feet                         D. 156 feet

	[image: image16.png]The perimeter of the figure is 85 ft.

What is the value of x?

51 ot

A 25ft
B. 20 ft
C. 15ft

D 10 ft







Memory

	MD.1
[image: image17.png]Thomas has band practice after school. He
gets out of school at 3:30. It takes him 15
minutes to get home, 10 minutes to eat a
snack, and 15 minutes to get to practice.

What time will Thomas be ready for
practice?

A 4:10
B. 415
C. 5:10

D 515





	MD.1
Read the clock.  What time was it 55 minutes ago?  [image: image18.png]



A. 12:25

B. 12:30

C. 12:45

D. 1:05


	MD.2

[image: image19.png]Amanda has a pitcher containing 800 mL
of water. She emptied the water in the
pitcher into smaller bottles of 200 mL
each. How many such bottles did she use?
A 4

B. 40

C. 600

D. 1,000




	MD.2
[image: image20.png]The figure below shows the weight of a
strawberry and the weight of a bowl with
the same strawberry in it.
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What is the weight of the bowl?
A 39

B. 30g

C. 60g

D. 6759






	MD.3

[image: image21.png]The bar graph represents the temperature
in Sunny City at 6:00 a.m. for 5 days in
January.
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Using the data from the graph, which days
were warmer than day 4 at 6:00 a.m.?

A. days 1 and 2
B. days 3 and 5
C. days 1and 3

D. days 2 and 5





	MD.3
[image: image22.png]Students In the third grade at Kemper
Elementary School were asked their favorite
color. This bar graph displays the results.
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Which statement about the graph is true?
A. 50 students participated in the survey.

B. More students selected purple than green
as their favorite color.

C. Yellow was the least favorite color.

D. More students selected blue than both red
and green combined.






	MD.4

[image: image23.png]Thirteen Students in Mr. Cline’s science class
measured the height of their bean plant and
recorded it on a giant line plot in the
classroom.

How many students recorded a growth less
than 3 inches?

A. 2 students
B. 3 students
C. 5 students

D 9 students




	MD.4
[image: image24.png]Alex measured the lengths of different toy
cars in a store.
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How many toy cars are less than 4 inches
in length?

A5
B. 8
C. 11

D 13






	MD.7
[image: image25.png]The figure below shows a page of Albert’s
scrapbook.

12in.

6in.

He pastes stickers on the entire page
without any gaps between two stickers
and with no two stickers covering each
other. If each sticker is 1in. x 1in., how
many stickers can he paste?

A 2

B. 6

C. 18

D 72





	MD.7
[image: image26.png]Use the image below to answer the question.
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What is the area of the shape shown?
A. 20 sq. cm
B. 33 sq.cm
C. 36 sq.cm

D. 53 sq. cm





	MD.7

Which formula shown is used to find the area of a rectangle?
A. A = l x w

B. A = ½ x l x w

C. A = b x h

D. A = ½ x l x w


	MD.7
Which strategy can you use to find the area of the rectangle?

[image: image27.png]6ft

3ft




A. 6 ft x 3 ft

B. 6 ft x 3 ft x 6 ft x 3 ft

C. 6 ft + 3 ft

D. 6 ft + 3 ft + 6 ft + 3 ft




	MD.8
[image: image28.png]Use the figure to answer the question.

Monique drew a figure in the grid. Each
square unit represents a square foot.

What is the perimeter of the shaded
figure?

A. 18 feet
B. 20 feet
C. 22 feet

D 24 feet




	MD.8
[image: image29.png]Anna and Bert built a pentagon shaped
play pen for their new puppy. All the sides
of the pentagon are the same.

4 feet

What is the perimeter of the play pen?
A. 4 feet

B. 9 feet

C. 16 feet

D 20 feet





	MD.8

[image: image30.png]John ana Paul have two rectangular carpets.
John's carpet is 8 feet long and 4 feet wide.
Paul’s carpet is 7 feet long and 5 feet wide.

Which of these statements is true?

A. The area of John's carpet is equal to the
area of Paul’s carpet.

B. The area of John's carpet is greater than
the area of Paul’s carpet.

C. The perimeter of John’s carpet is equal to
the perimeter of Paul’s carpet.

D. The perimeter of John's carpet is greater
than the perimeter of Paul’s carpet.





	MD.8
[image: image31.png]The length of a rectangular marble piece Is 6
inches. What will be its width, if the
perimeter of the marble piece is 20 inches?
A. 4 inches

B. 10 inches

C. 14 inches

D 26 inches






